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— C ol 1 R Z/J —, -

. 1. QSQID thE equation. Lj > / 7 ﬂ‘ sh (e 35

[ U St Al b RV /0 227 — ookt -./

a 5x +x% -20x-4=0 4 2 @ngn,,

The solution set is l __‘___#_-Z

(Simplify your answer. Type an mteger or a simplified fraction. Use a comma to separate answers as need

Use Sqathedc nsee =2 ) 57 /( =
\ Answer: 1 - = -2 —2 — S /( -~/
B RN A ~ AL
SH(== i — L
ID: PF.4.39 S xr] (= g —( C:(_:—' — -
Find the dista ed(P1 P2) between the given points Ay { (/ d) :

P, and Py C\ W"‘(Qé7/4/ _qL)L ., w—j }/I % /'L
P, =(22) 1
P, =(-36) d (f(_(z)\(})) —f'/(z_) (g)) \\F.H

/(2 1
(23)C7(2-¢)¢ pre g

Sy
d(P,, Py =
(Sﬁmthy?ouW%s needed.) (o / L4

oYyl 3
ID: F.1.21 CEJ j o . IZOH/(

3. Find the @ o%the line segment joining the points P, and P,. [Z —_ 3) (b? 3 / - ‘
P, =(2 -3);P,=(8,3) A.A/yu.yzz/”/*’(a "?,-rv) 9 ;j
L

The midpoint of the line segment joining the points P, and P, is
(Simplify your answer. Type an ordered pair.)

wooner 5y 1051 z/(__Li(a’/ Q/-—f@/)
D 130 /Wp(/bu_ /¢+(/ ‘}_,23 "
2y Ty . 4
MWW

o
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4,

For the equation x° +y? - 8x - 4y -16=0, do the ' Ay
following. J(L,(
(a) Find the center (h,k) and radius r of the circle. L‘ l/L “
(b) Graph the circle. W() A 5
(c) Find the intercepts, if any. w 1

At
(a) The center is : 2+
(Type an ordered pair.) X

o 8 5 4 2 ] 2 4 & B
The radius is r= . 2
(b) Use the graphing tool to graph the circle. .-4;
(c) Find the intercepts, if any. Select the correct choice B
below and, if necessary, fill in the answer box to complete i
your choice. B
Z 4

A. The intercept(s) is/are )( -, K )("(' 7 2____ ({ = /C re i //
(Type an ordered pair. Use a comma to ) '
separate answers as needed. Type
exact answers for each coordinate, using

radicals as needed.)

B. There is no mtercept L p ) L A L |
LB (-0) 0y e + ()< /Cr (E0) (40
)/L— S§X F(~%) L%jz—-«(fj “(~y* < /6 (~%) ¢ +(~2) ¢

)( —§x ~+ /1 7‘7‘1"—‘ ~Yy + ¥ ST T
, o £ ¥ :
)("5)('7‘/6 *-r‘7 57 i/ 56

.\.

;",:_ L{'L) '\‘
| (_; |

(0= v 6r) 4 (9 =) (5=0) <
f-o) *//%a) = 34

F

A. The intercept(s) is/are (4-442,0),(4+442,0),(0,2-245),(0,2+245) .
(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each
coordinate, using radicals as needed.)

oo - ————— B - e 3/12/2020,.7:15_PM
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ID: F.4.27
P o
5. Find th@fi}}f the function.
f(x) = 4/6x - 36 s d e
/4//74 scliin_
The domain is . (Type your answer in interval notation.)

Clon?“'\

¥ </ AX+ 1

AN- AX+ 8 245

Answer: [6,00)

ID: 1.1.59 7//3() B m

AN é)(—g 4 B __//
bx~ 347X = 0776

Gv = 3¢
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6. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x) = 5x + 3; g(x) =8x -9 6[-#7//3(/”

(a) Find (f+g)(x). 7~ f 5(‘»</ T T 1
_ Gxr t (8L ) - 2 LA™ )
(f+g)(x)= (Simplify your answer} ~% '/\// Y,

e § = Fl—'F =

What is the domain of f+ g? Select the correct choice below and, ﬁ‘necessary, fill in the answer box to.cerfplete your
choice. (,g/(___ G \-_- ‘-/(..ﬁ/
-""—'—-—-—..“__ﬁ/

A. The domainis {x| (/___. ‘;),-;/7 - e —
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ("f/ '——'//X/ =

B. The domain is {x| x is any real nu ber}
X)) — ( 7 X4 / -

f-g)(x) = (Simplify your answer.) &N

(b) Find (f- g)(x).

What is the domain of f—g? Select the cor%ttchamboﬁw and,_zf.naeas’sam fill in the answer hox to. compteteyour
choice.
Ve /X
(# g J -
A. The domain is {x| i ) * D) =

(Use integers or fractions for any numbers-in the expression. Use a comma to separate

answers as needed.) (j )(,_f Sv) 57{,_5)

B. The domain is {x| x is any real number}.

Gox L — 5K+ lvx —27¢
Foxlo_ o x 7T o=

(fea)x) = (Simplify your-answer. I

(c) Find (f+ g)(x).

What is the domain of f= g? Select the correct chmce below and, if necessary, fill in the answer box to complete g SRS

choice. ,#ﬂ. AN 0’/,_7 =
2 P ﬂ
A. The domain is {x[ Cj ) ) / Z/”‘? 9 Te7TY

(Use integers or fractions for any numbers in the expression. ée a comma to separate /’7 /(/" 4/
answers as needed.) & ‘

— o

o sls

B. The domain is {x| x is any real number}. )(//

/ 7A
=y 7
e T St 3
; i B >

(_] (x)= _ (Simplify your answer.)

(_f’/j/(,y /51/—

What is the domain of —? Select the-correct chonce below and, if necessary, fill in the answer box to complete your

7L7*/ /(3) ¢ (33— €
/v;/f’s/k 39— ¢

choice.

A. The domain is {x|
(Use integers or fraction
answers as needed.)

79)(3)= 33 N\ i,

o el mk-—-—'l

R Tha dancninia fol wia

G[/i/mumbersm theexpression..Use a comma to separate

4 of 28 e
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(/-— 9/ 0z =3¢ 1L
() Find (f+g)(3). (;/* (e)==3 ()¢

(f+g)(3) = (Type an integer or a simplified fraction.)

(f) Find (f- g)(2). ih g:;/ ((22 )) - (;(’ (—5/:{::7#
(f-g)2)= an intéger or a simplified fraction:) o
(g) Find (f+g)(4). (7: ) = Pox bty x—2 )
/2 Oy AR
/)/((// GolNv)— 21 () =27
1/ 5) (%) ciro(lc) —7/(9) e

m—l
(h) Find (g]u).
{f](n t lified f t )
— (M= : an integer or a simplifie rac ion.
g —— C
| ,z ()= S
Answers 13x -6 <c {(// S’lz & , "f;;/,_
B. The domain is {x| numb‘ar}_—_'
e S S
-3x+12 S‘/\/’f}

B. The domain is {xl X is any real number}. (f"“’)ﬁ(}
2

40x" -21x-27

o,
B. The domain is {x| x is any real number}. 7{) = H):‘—'[LL;;‘,“
/ 5 f /)'- /

S5x+3

ij—he domain is {xl x#g } (/1) (I)

(Use integers or fractions for any numbers in the ex ression. Use a comma to separate answers as needed.)
33
6
529

ID: 1.1.67
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7. f(x +h) = ()

Find the difference quotient of f; that is, find h , h#0, for the following function. Be sure to simplify.

f(x)=x2—8x+5

fx+h) - f(x) _
—=

Answer: 2x+h-8 _/
&

] < /Lfa" X+s~
ID: 1.1.83
2 e
U 7
. g
_ -z ’
WXH‘A) s )= (X=X e -

A
()(—M)(” §) —Ex—gh~+t —x 6 s

A
)(éf//(/.—ﬁ(XA-f/pL‘*ﬁ’)( —J4H S =4 C*?‘f/(’&'—:
s
(fr 2xhot hE =g =74 5= X A
h

r{

Z
2xb—+h —vh
o h

2X he ¥4

Z

1

_—______‘—"'_“—'-ﬂ.

LALbd i

6 of 28 3/12/2020, 7:15 PM



testlm131456spring2020-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v 1/print/math

8. Using the given graph of the function f, find the following.

(a) the intercepts, if any
(b) its domain and range
(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither
1

L o
ém\ﬂw }/MM ) ! o Aol Feversl Pl for |
A" ' 2/ =X Clorrl pleec IV [a
(a) Whatare theintercepts? / YA W_L,Z, /Vl{-v-ﬁ/l . LU cherad !
(""I!())(’] o/ (0 ) _“'L /9[(‘).7 Ma—v\éé/&}/‘/

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as neaded.) . -y

(b) The domain is = S 3) < [ [eld, risad J \ 7%
(Type youranswer in interval notation.) =8 . \ - ;“

Thiange i
(Type yolr answer \swer in interval interval notation.) L —="

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within
your choice.

A. The graph |Q3eas\gon [ / 0] [/ 3 j

(Type your answerin interval notation. Use a comma to separate answers as needed.)
B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

. T Lo, ]
N, -_ —
A. The graph @:\c{:r&asi&g on C 3/ . /j - O/ [
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

“B. The graph is not constant on any interval. '*‘_'..

—

(d) The function is (1)

o — 5

(Ll even, e
odd.

neither odd nor even.

7 of 28 3/12/2020, 7:15 PM
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Answers (- 1,0),(1,0),(0,1)
[-33]
[0,1]

A. The graph is increasingon [-1,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [-3,-1],[0,1] . N
(Type your answer in interval notation. Use a comma to separate answers as needed.) \

B. The graph is not constant on any interval. e/

(1) even.

ID: 1.3.25

8 of 28 3/12/2020, 7:15 PM
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testlm131456spring2020-Alfredo Alvarez
(A ‘QS Ui ('( Vyl b\.

9. Forthe graph of a function y =f(x) shown to the right, find the absolute T q I )
maximum and the absolute minimum, if they exist. Identify any local maxima 4,7) /
or local minima. | /N
44 [
(0,3) /}1 "
(5.3)
I \‘wj
l (2.1 -

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

”A. The absolute maximum of y =f(x) isf( Cf ) = 7 Oﬂ (7/ 7) O

(Type integers or simplified fractions.)

B. There is no absolute maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. (}\ g"‘ ‘/

2 )- f,d/((zf)

A The absolute minimum of y =f(x) is f[
(Type integers or simplified fractions.)

B. There is no absolute minimum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.
VAT The local maximum of y = f(x) isf( Qf ) ; : O’{ // 7)
(Type integers or simplified fractions.)
B. The local maxima of y = f(x) are f(* - ) = and ()}
f( )=

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

o~ (2, )
“A. The local minimum of y =f(x) is f( 2_ ) = / O/L 2 /
(Type integers or simplified fractions.)
1 "\
) = - and J

B. The local minima of y = f(x) are f(,

( )-

(Use ascending order with respect to x. Type integers or simplified fractions.)

+ C. There is no local minimum for y = f(x).

9 of 28 3/12/2020, 7:15 PM
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Answers A. The absolute maximum of y = f(x) is f ( 4 ) = 7
(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f( 2 ] = 1
(Type integers or simplified fractions.)

A. The local maximum of y = f(x) is f( 4 ) = 7
(Type integers or simplified fractions.)

A. The local minimum of y = f(x) is f( 2 ) = 1
(Type integers or simplified fractions.)

ID: 1.3.51

10 of 28 3/12/2020, 7:15 PM
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10. The function f is defined as follows.

3+x ifx<0
f(x) =
X2 ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) T@mam of the function f is g‘--m (7 ‘/ %—— %’[C/ )‘f’) 4 ’Z)

(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. o ~ inleropt-

I ‘/u---,-ﬂr»é— G /JJ
QA Th@) is/are L SLU) (C)) 0 ) X ety Lo Oy @j< )
(Typ€an ordered pair. Use a comma to separate answers as need )

(O B. There are no intercepts.

St
(c) Choose the correct gragb_gf_l_’_@ below. Oﬂ@}

O D.

(d) The
(Type

Answers (- 00,00)

A. The intercept(s) is/are (- 3,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)

(- 00,00) ' — e
p /_/’_ ——

ID: 1.4.37

“\

- /-_‘_j P /}/GN \
r--u-( QL)/ C(/(lr /

'

| envp nact) fos y
Yoz x "‘(/(>0) (.JCL( P

1212020, 7:15 PM
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step toward graphing each of the following functions.

(@) F(x)=f(x) +3 (b) G(x) =f(x +4) (c) P(x) = - f(x) ¢ )

1 5 A
(d) HOo = f(x+2) -2 (&) QM) = 5 (x) (0 9 =f(-x) s g ’

11. The graph of a function f is illustrated to the right. Use the graph of f as the first J
6_
¥

(9) h{x) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 3 below.

. (d) Choose the correct graph of H(x) = f(x + 2) — 2 below.

C/ﬁ 7/-[ CLUWy, _—/L

12 of 28 3/12/2020, 7:15 PM
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1
(e) Choose the correct graph of Q_(gg)i—@) below.

13 of 28 3/12/2020, 7:15 PM
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Answers

-

6}

ID: 1.5.63

14 of 28 3/12/2020, 7:15 PM
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12,
(a) Graph f(x) = |x + 5| - 2 using transformations. Ry
(b) Find the area of the region bounded by f and the e
x-axis that lies below the x-axis. a
54

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

24
(b) The area of the region bounded by f and the x-axis .
that lies below the x-axis is square e S —— ————t—f————>
units = fo 8 6 -4 -2 | 2 4 & & 10
(Simplify your answer.) ‘Qi

o B

1

10-

Answers

.;5; sl _ -
o U Sz 7%
e < c /CJ/b‘[V’

gﬁ‘/(" _f/( - , ".J: L DUl 2

150£28 S e — %71372020, 7:15 PM
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Y': -~ b tU _19 —Yac
13. Solve the following equation using the quadratic formula. 2
2% -3x-2=0 XY=~ 3)tm/_l/ 31"(/"’7—’?(6
Lf

A=2 -3 C=Z-2
The)solu ion set is { } Z ( )
(Type an exact answer, using radicals and i as needed. Use integers or fractions for any numbers in the expression.
Use a comma to separate answers as needed.)

{Z 37") M Y»‘ Zg ﬁ"\ o ' %
Answer:2 _l dﬂ_ (/ ﬁ\ = 3 £
-2 H=E 4’ 5 \ <

(~ ) =3+ ga 3-S5
ID: Quick Check P2.2.2Q/ on / ) L

< <

mmhe quadratic function usmg the quadratic formula. What are the x-intercepts, if any, of the

graph of the function? 7£/ 7 —
X ~f/ LA+ 3 , ,
f(x)=8x +3+12x /:4 o ,( 2 /,,/yus
=%, b=(¢ ¢~ -4

a1V
Select the correct choice below and, if necessary, fill in the answer box to complete your choick. 'Z/, /) 7/ / ;
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the e pression. Use a
comma to separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are

OA. are

(O B. The zeros and the x-intercepts are the same. They are

O c. Thereis no real z lution-and no x-intercept,

-3 -a- 3 \

4 4

Y=-(i2 *ﬁ) (oA5) —7 i3

)(’c-IZ’tW// Y e =31
/G / /
7 o

Answer: B. The zeros an rcepts are the same. They are

ID: 2.3.47

NeL22/%5 effwi = —3 205
s

NZT 12k 3
/¢

Y= 42 + i /3
¢

Y=—/2+%v3
7

16 of 2
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or the quadratic function f(x) = x2 —-4x-12, answer parts
- (a) through (c).

(a) Graph the quadratic function by determining whether its ,‘J__3
graph opens up or down and by finding its vertex, axis of ;
symmetry, y-intercept, and x-intercepts, if any. 8-

Does the graph of f open up or down?

>

T | B UL 5 i e e e T T

up 20 -6 12 8 4 ] 4 8 12 16 20

down
What are the coordinates of the vertex?

The vertex of the parabola is
(Type an ordered pair. Use integers or fractions for any 11
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it

iec Aarranacin~

18 of 28 3/12/2020, 7:15 PM
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S(A_/Tm“"‘) /"I /{( ()C(‘- 1 "‘j\)

testim151456springZ02U-Aliredo Alvarez

-

R
. 7 -
Answers up ' ) Sc/w_ e }7 ¢ 44 L) :
R % 356 Q‘W-,‘ Oy / 53 7 -///f
x=2 \-Zi/ j'c%‘ e .-

A. The x-intercept(s) is/are 6,-2
(Type an integer or a decimal. Use a comma to separate answers as needed.)

Law )

A. The y-intercept is -12 {(Type an integer or a deci

19 of 28 3/12/2020, 7:15 PM
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% Ny
16. Detarmm@t grapb_!p_nghether the given quadratic function has a maximum alue ora mlnlmum vcje and
thenf'ndmk@ﬁ:—'— /Vf’jg./(‘._( $754 /7 Cem s /)V’vg) (’-x
=-22+x-3  S2 o Hedt G Jhad

as—-2, L= C -3 .
Does the quadratic funétibn f have a minimum value or a maximum value?

The function f has a maximum value. [/fr Z/ (
2 (——d )

The function f has a minimum value.

What is this minimum or maximum value’?w"/Z/ )( .i//
— V= Z(/
(Simplify your answer.) /2 )[( Z ))

Answers The functlonfhagﬁaﬁ(nﬁum value(z/ -2(2) -+ ?;{&) 3/ /4‘74{\\
s Vrlaxe /? L) )T i’/?) 2/ T

Ul = (275463
ID: 2.4.59 V'//-.Lf( (7 £y

W lars 41

e

17 Construct a polynomial function that might have the given graph.

(5 )((A/#Z)()(—f?‘/“o
&)( gu 01 X2 <o ol )(ﬂ/zo
e X47-0 =0~ Ko G

Clﬁ d 1 /(/ — _L;\ b
oose the correct answer _J'E;Y" 1oy L7 T 74 —
Choose th t belo{/(jj 0) / /(—é 0)/ ( 0) \/V?X

A. f(x)= x(x+2(x+4

-

“B. f(x)= x(x 2)(x-4)

- C. f(x)=x(x-2)(x-4) i (/u (1 6/ Jdtv D

DL f0=x(x+2)(x+4)

(//5( |
jl/ﬂﬂ‘)/-ﬂ

(: aQ (C;\/k.. -t

ID:3.1.73

<K

2006 28— 3/12/2020, 7:15 PM




testlm131456spring2020-Alfredo Alvarez https://xlitemprod. pearsoncmg com/api/v 1/print/math

e / = 3
18. Solve the equation in th@@m@_emymm "/ [ /( vl ( }( __M_L’_;G

a1 D, e g
-12x+45=0 //— ; z & AT
- tax <{ —— /,4 ool . yrletiq

The solution set is { - b. (Useacomma to separate answers 93 neadad) /r’ /2 tz’ LA
omaigen X=m CIV2AAY =4 o™ 2o e G
Answer:6-3i 6+3i == (,( 0 _;/,xﬁ X’, C’ t 2 4
(= 12V =15 ;
ID: 3.3.2 =, z X< 6- ?/1 6 1“34

— /'—='--.._ e — ——
19. Find thg'complex zeros of the following polynomial function. Write f in factored form.

i) =x> - 16x% + 79x - 145 Ltg--(._ S 94 tlde, (-_J { UlSer7

The complex zeros of f are .
(Simplify your answer. Type an exact answer, using radicals and i as needed. Use integers or fractions for any
numbers in the expression. Use a comma to separate answers as needed.)

Use the complex zeros to factor f. /
(5 St dlic dia, Wi = (s b 75 a—/ i
~ (Type your answer in factored form. Type an exact answer, using radicals and i as needed. Use integers or fractions

for any numbers in the expression.)-, — S
I N A AL
AnswersSS -2i5+2i @ 'S —_ (O /(/_.‘;‘“

C@w,ﬂ/) (x = 5)(x - 5+2i)(x 5-21i) ‘ — 2. (@l r
o m "
M /l)( O #28% T O
_ C =7 e

A= y L= 2, 2 <
X'=~(%) /(7 y/{)(z fe s e
Z (1) = A AR

N =/ L y706—;0

a 7S s

5 e, o)

Yo § £
2lofggm
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20. Find tr(vertlc hortzontai anu@que asymptotes if any, for the following rational function.

7 //)( St l;u/b'"") o
< R(X)'x+18 /(ﬂ(/ /)(.-r/j I)<"f /Z"— a

e
—

Select the correct choice below and fill in any answer boxes within your choice. (X T [ J “/ j & / Z
(O A. The vertical asymptote(s) is/are x = o B J_,i(/,-; _:/ __i

(Use a comma to separate answers as needed.) ( . /{/ —— /\
(3 B. There is no vertical asymptote. __#——/”/J
Select the correct choice below and fill in a war-bam"\}"lﬁ your choice. , D{d//

Verlcad cs
""'_““w._____.—/”'/_\___,——-‘“\ —

(O A. The horizontal asyglptahe(ahsfare" =
[7 /Hy/().f R Fyo

(Use a comma to separate answers as needed.)
(O B. There is no horizontal asymptote. ,~ —
/(ﬂﬁg/ = X7( 7 il s Lo s S bty
Select the correct choice below and fill in any answer boxes within yéur choice. / PlamP) “5

f—

O A. The oblique asymptote(s) is/are y = o . = [ 7 )(
(Use a comma to separate answers as needed.) Lj s ”'—E( ==
(O B. There is no oblique asymptote. / 7
Answers A. The vertical asymptote(s) is/are x = - 18 : 7 /
(Use a comma to separate answers as needed ) / ,? — l 7
A. The horizontal asymptote(s) is/are y = 17 /,.&

(Use a comma to separate answers as needed.) u//
B. There is no oblique- asymptote ,,4 Z( y _ / 7 250 /
(Jroran s 72
ID: 3.4.45

}L( Bl

i’-;/nu / //>>é e i '/(_/ /3
S n s prre 0 il Shr)

7Z Af’ s o () é / // g g 9oy 1 /L

kufx//wr\//\_//
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For f(x) = 5x + 5 and g(x) = 5x, find the following composite functions and state the domain of each.

(@) fog (b) gof (c) fof (d) gog
(a) (fog)x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A. The domainoffogis {XI o }

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(_) B. The domain of fo g is all real numbers.
(b) (g o H)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(2 A. The domain of go fis {x| };
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{3 B. The domain of g o fis all real numbers.

(c) fof)(x)= (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

“#A. Thedomainoffofis {x| ~ }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

1 B. The domain of f o f is all real numbers.
(d) (gog)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

.'A. Thedomainofgogis{x| 1}
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

.. B. The domain of g o g is all real numbers.

3/12/2020, 7:15 PM
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Answers 25x +5
B. The domain of f o g is all real numbers.
25x+25
B. The domain of g o f is all real numbers.
25x+30
B. The domain of f o f is all real numbers.
25x 0

ID: 4.1.23 é//z /@5 S M ﬁ(/)
(fo9))=
A(569) -
/(s»*‘) - |
- | JUW?%'
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¢ Z_,( / v “\
(, The function f(x) = 20x - 4 is pfie-to-one.
(a) Find the\jnverse ci‘f,anf:l check the answer.
{(b) Find the domain and the range of fand f t

(c) Graph f,

_1 -

@f (%
(Simplify your answer. Use integers or fractions for
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below
and, if necessary, fill in the answer box to complete your

choice.
A. The domain is {x|x2 i )
B. The domain is {x|x= }-
C. The domain is {x|x#
D. The domain is the set of all real

numbers.

Find the range of f. Select the correct choice below

necessary, fill in the answer box to complete your ¢hoice.

.
).
).

The range is the set of all real numbers.

A. Therangeis {y]y# _

©

The range is {y[yz

C. Therangeis {y[ys
D.

. \ - C
Find the domain of f 1. Select the correct choice below )(""{ /

and, if necessary, fill in the answer box to complete
choice.

A. The domain is {xlx#

B. The domain is {x|x=

C. The domainis {x|x=

1}.

.\‘
\

- D. The domain is the set of all real

numbers.

Find the range of f ! . Select the correct choic
if necessary, fill in the answer box to complete

The range is {yly £

The range is {y[yz ‘

The range is {y|ys

O 0w »

The range is the set of all real numbers.

26 of 28

, and y = x on the same coordinate axes.
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)( #/ 9/ } x‘\ .
oo st

FE TN

Z/Q 2

— Y 7‘”"\“
/ 60 )\o

_/

nd,
ice.

3/12/2020, 7:15 PM



testlm i3 1450spring2uZu-Altredo Alvarez https://xlitemprod.pearsoncmg.com/api/v l/print/math

x+4
20 g

D. The domain is the set of all real numbers. e _ LU‘)( S
(bj L' -

D. The range is the set of all real numbers.

Answers

D. The domain is the set of all real numbers.

2:.1;W @i .’ |

16

ID: 4.2.53

-

. — <
23. The functlon E—— (l" /
D(h) 9e "0 5Q il R
can be usedo find the number of milligrams D of a certain drug that isin a*patient's oodstregm h hours after the
drug has been administered. How many milligrams will be present after 1 hour? After 6 hoq:s’?

After 1 hour, there will be - illigrams. (Round to two decimal places as needed )

After 6 hours, there will be - D millidrams. (Round to twey decimal places as needed.)

() = g Jiw [
Answers 4.99 p = j/
oz D)) = m%“’_%@

ID: 43111%/ ) /Zr.)uq/{ .

Do) = d///——cl)/@v/c )) |
D =0.2611175%37 "({/

b= 0-7c S

27 0f28 3/12/2020, 7:15 PM
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24 Find the domain of the function. /), - X —7 =<
w=mx-8 }(/ﬁf770 7

The domain of f is N
(Type your answer in interval notatlon ) K ? 8 P o
Answer: (8,00) —’—‘E—ﬁ '{
ID: 4.4.39 (X ‘W) —
Z _
25. Find the real solutions of the equation. ST
, TGt X (Frwile D
2+4/7x-6 =x —7 /X —C e

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

O A. The solution set is { - }
(Simplify your answer. Use a comma to separate answers as needed ) 1

(O B. The solution is the empty set.

J L
e d’?
Answer A The solution set is { 10 }@

/ ',DA855(W_@ ) o)

[ Tw-¢* O(/a)(xn) > vt () |

-6 /\/ C—ix-Uy 2+ 76 =

7)(—6 = >(‘ R A% 2+ YT = .
C’) AR . 2t/ =, |
q / — x—70 |

! o Trg 42\
F =)0 /")“ 2TFVII e = 2\
H/ =) on /(/~/u-.,u 24 (To-6 T /¢ \\]

—f +/ c)// O Y~ 10 =07/ 2+ Y6y < /7

ﬂﬂ@/ (/c’(/z 2+ 3 < s 6( /
7Ue

X Ay
'\-\ Q!?Sb\f‘_ —
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